Exit Ticket D1 - Writing Ratios

) . Correct Answer: ABCD
What is the ratio of

circles to triangles?
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Correct Answer: ABCD
Explanation:
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The shaded lightbulbs represent the number of lightbulbs that are burnt out. Which ratio is
equivalent to the ratio of burnt-out lightbulbs to working lightbulbs?
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Correct Answer: ABCD

The ratio of girls to boys in a class is 1:2

Explanation:

What fraction of the class are girls?

=N W

This quiz was created on www.diagnosticquestions.com.



	Exit Ticket D1 - Writing Ratios

